1T6r(r)1p Series: [ 6. 14. 18. 4. 3.], erreur Mk 0 = 427.2937537311T6r6p Series: [ 6. 14. 18. 4. 8.], erreur Mk 1 = 450.236922924
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Temp Series : [ 6. 14. 18. 4. 20.], erreur Mk 2 = 452.68509726 Temp Series: [ 6. 14. 18. 4. 9.], erreur Mk 3 = 454.477722553
100 ! ! ! ! ! ! ! ! 100 !

80 801 :
60 60|
401 40
20 Fr e R R R e Y 20F ™= IR R s
0 ! ! ! ! ! ! ! ! 0 ! ! ! ! ! ! ! !
Temp Series: [ 6. 14. 18. 4. 7.], erreur Mk 4 = 469.75649496 Temp Series : [ 6. 14. 18. 4. 17.], erreur Mk 5 = 470.724944645
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Temp Series : [ 6. 14. 18. 4. 13.], erreur Mk 8 = 489.02003398 Temp Series : [ 6. 14. 18. 4. 12.], erreur Mk 9 = 491.811901764
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